
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt65-cabinet-assembly
7/4/25

DT65 Cabinet Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt65-cabinet-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt65-cabinet-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 DT65-401 Cabinet  1

2 DT65-402 Door  1

3 DT45-303 Door Latch  1

4 TS-2361081 Lock Washer M8 6

5 TS-1504061 Socket Head Cap Screw M8x30 6

6 TS-1524021 Socket Set Screw M8x10 6

7 DT65-407 Flexible Hose 2-1/2” 1

8 DT45-308 Hose Clamp 2-1/2” 2

9 DT45-309 Eye Bolt M10 2

10 DT45-310 Pin  2

11 DT45-311 Dust Chute  1

12 TS-1502031 Socket Head Cap Screw M5x12 4

Additional Information

Stock Number 1791305-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt65-cabinet-assembly

